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function voting(p,N) 
%Calculates the odds of being a pivotal voter given that each voter 
has 
%probability p of voting for candidate A, 1-p for voting for candidate 
B, 
%the probability of any voter voting for a candidate is independent of 
the 
%votes of everyone else, and N people vote. 
%   For each j, figures out the probability of being a pivotal voter  
%   given 2j people are voting.  Call this probability d.  When j=0,  
%   d=1.  For positive j, d(2j)=2*p*(1-p)*d(2j-2)*(2*j-1)/j.  Keep N  
%   even for now. 
  
d = 1; 
for j=1:(N/2) 
    d = 2*p*(1-p)*d*(2*j-1)/j; 
end 
d 
end 
  
 


